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Gone Fishing
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Success Criteria

Aim
• I can divide numbers by a one-digit number using short division.

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide numbers by a one-digit number using short division.
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What is the missing number?

What’s My Number?

14 593 - = 77596834× 15 = 72048+ 58 285 = 82 87824 593 3285 ÷ = 3659583 × 7 – = 2293852÷ 3 + 653 = 884693 6893 +         - 598 = 11 1304835
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I have 95 mealworms and want to equally share them between five tubs. 
How many mealworms will there be in each tub?

Tackle Shop

Today, we will be 
learning about the 

written method, short 
division. 
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First, we need to read the question and highlight any key words. 

Tackle Shop

I have 95 mealworms and 
want to equally share 

them between five tubs. 
How many mealworms 

will there be in each tub?

I have 95 mealworms and 
want to equally share 

them between five tubs. 
How many mealworms 

will there be in each tub?

The question is asking us 
to share the mealworms 

between the tubs. 
Therefore a division 

calculation is needed.

Short division is based on 
the idea of distributing 
the division across a 

partitioned number, e.g. 
distributing the division 

of five across the addition 
of nine tens and five ones 

in the number 95.

The number 
being divided is 
known as the 

dividend.

The number by 
which another 
number is to be 
divided is known 
as the divisor.

5 9               5
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I have 95 mealworms and want to equally share them between five tubs. 
How many mealworms will there be in each tub?

Tackle Shop

First we divide 9 (tens) 
by five. This gives a result 
of 1 (ten) remainder 4. 
The 1 is written in the 
tens position of the 

answer above the line. 

5 9               5

1 9
4

The remainder, 4 (tens) 
is exchanged for 40 ones 
and regrouped into the 
ones column. This is 

shown by a small 4 in 
front of the existing 5 
ones to make 45 ones. 

Next, we divided 45 
(ones) by five. This gives 
a result of 9 (ones). The 
9 is written in the ones 
position of the answer 

above the line. 

So 95 ÷ 5 = 19

How could we check our 
answer?
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Let’s have a go at a different problem involving three-digit numbers.

Tackle Shop

I have 294 bait floats 
that are in seven 

different colours. There is 
an equal number of each 
colour. How many bait 
floats are there of each 

colour?

First, we need to read the 
question and highlight 

any key words. 

I have 294 bait floats 
that are in seven

different colours. There is 
an equal number of each 
colour. How many bait 
floats are there of each 

colour?

The number 
being divided is 
known as the 

dividend.

The number by 
which another 
number is to be 
divided is known 
as the divisor.

The question is asking us 
to find out the amount of 
each coloured bait float. 

Therefore a division 
calculation is needed.

Short division is based on 
the idea of distributing 
the division across a       

partitioned number, e.g.  
distributing the division 

of seven across the 
addition of two hundreds, 
nine tens and four ones in 

the number 294.

7 2               9 4
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I have 294 bait floats that are in seven different colours. There is an equal 
number of each colour. How many baits floats are there in each colour? 

Tackle Shop

7 2               9 4

4 2
2 1

First we divide
2 (hundred) by seven. 
This gives a result of

0 (hundreds) remainder
2 (hundreds).

The remainder,
2 (hundreds) is 

exchanged for 20 tens 
and regrouped into the 
tens column. This is 

shown by a small 2 in 
front of the existing

9 tens to make 29 tens.

Next, we divide 29 (tens) 
by seven. This gives a 

result of 4 (tens) 
remainder 1 (ten). The 4 is 
written in the tens position 

of the answer above the 
line. 

After, we divide 14 
(ones) by seven. This 

gives a result of 2 (ones) 
The 2 is written in the 
ones position of the 

answer above
the line. 

So 294 ÷ 7 = 42

How could we check our 
answer?

The remainder 1 (ten) is 
exchanged for 10 ones and 
regrouped into the ones 

column. This is shown by 
a small 1 in front of the 
existing 4 ones to make

14 ones. 
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Which fish weighs the most?
Click on the fish to reveal their weights.

Biggest Fish

508kg ÷ 4 = 127kg

424kg ÷ 8 = 53kg
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Which fish weighs the most?
Click on the fish to reveal their weights.

Biggest Fish

742kg ÷ 7 = 106kg

873kg ÷ 9 = 97kg
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Which fish weighs the most?
Click on the fish to reveal their weights.

Biggest Fish

912kg ÷ 2 =  456kg

900kg ÷ 4 = 225kg
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Which fish weighs the most?
Click on the fish to reveal their weights.

Biggest Fish

612kg ÷ 9 = 68kg

536kg ÷ 8 = 67kg
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Use your marvellous maths skills to complete these activities:

Gone Fishing
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What is your proud moment from today’s lesson?

Proud Moment

It could be a particular 
calculation or part of 

the written calculation 
process that you have 

improved, etc.
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Success Criteria

Aim
• I can divide numbers by a one-digit number using short division.

• I can use known multiplication facts to complete calculations.

• I understand why place value is important whilst performing written 
calculations.

• I can use a written method to solve a calculation.

• I can divide numbers by a one-digit number using short division.
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